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B.Sc. Semester-1V Examination, 2022-23

GEOGRAPHY [Honours]
Course ID : 41912 Course Code : SH/GEO/402/C-9
Course Title : Geography of Economic Activities
Time : 2 Hours Full Marks : 40

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.
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SECTION-A

1. Answer any five questions selecting at least one but

not more than two from each unit; 2x5=10
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UNIT-I
(Economic Activity: Agriculture)
a) What do you mean by Truck Farming?
Gie Ffk Fece & @R
b) What is meant by crop combination?

*3) ANEY FE0e [ @Rie

[Turn Over]

c) What do you mean by commercial agriculture?
Jifdfere R e & @[
UNIT-II
(Economic Activity: Industry)

d) Write the name of major industries developed in

the Mumbai-Pune region.
IFIZ A FEiweEE g Realem i @19

e) Give an example of footloose industry in India.
TS €6 IR R @ Trizad wie |

f) What is Isodapane?

Isodapane &2
UNIT-II
(Economic Activity: Trade, Transport and Tourism)
g) Whatis ‘WTO’?
‘WTO’<eTcs 5 (i e
h) What are the components of tourism industry?
o FitEa Tomimafer 5 52
1)  What is TALC?
TALC 2
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SECTION-B

Answer any five questions selecting at least one but

not more than two from each unit:

4x5=20
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b)

c)

d)

e)
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UNIT-I
(Economic Activity: Agriculture)

Mention the problems of rubber plantation in the

present days.
IS AR A FRF TPl SEd 79|

What are the advantages and disadvantages of

mixed farming.
i i e g2} opjfRl wfer f 62
Mention the crop combination regions of India.
OIACST *PY AN SeeeTslel Srae e |
UNIT-1I
(Economic Activity: Industry)

Discuss different causes of the development of

Haldia Industrial region.
zerfual fetieeceTa afen seefe ofqr w91

What do you mean by connectivity, proximity

and accessibility?

TR, 70 8 Aoyl Fece F @rie
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f)

What are agglomerative and degglomerative

factors of industrial location?

M™% SR (Frg  agglomerative @3
degglomerative SAWN JeT(® F (@R_I?

UNIT-11I

(Economic Activity: Trade, Transport and Tourism)

g)

h)

1)

Discuss prospect of the Tourism Industry as an

emerging economic activity in India.

RS ST S eF IR ZAE 216 Hima
FGI SN 4 |

What are the problems of tourism industry in
West Bengal?

ARGREE 6 RiEe weniaefs 5 e

Discuss about the effects of tourism on the

destination area.
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SECTION-C
3. Answer any one question: 10x1=10
@ (I @FH drae Ted wis:

a) Write a short note on Whittlesey’s classification

of World agricultural systems.

Whittlesey ewe «jR_7 I I8 [owem TS
Bl @14

b) Critically examine Losch’s Theory of industrial

location.

Losch-43 frs DLZICATO0G] AL D[ CTID
4

c) Evaluate the role of WTO in international trade.

wEeifes Aty WTO- g™ e |
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